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25. Two objects have different masses but the same kinetic energies. If you stop them with
the same retarding force, which one will stop in the shorter distance?
a. the heavier one, because it has a larger inertia. } " .--'..:-1-- ~ --,
b. the lighter one, because it has less momentum. ---ND. ~ .11,. III ~~ ~
c the lighter one, because it requires less impulse to stop

@ both stop ~n the same d~stance, because of the. work ene~ J ~: ~ ..Ya':

e. both stop III the sa~e dIstance because of ~mpulse/momentum theorem. '1f F I..' ~ I ~I
~ None of the above IS completely true. ~ ~p .l ~'t:'-- .~ .4 ¥~ .

b ~1~J) I.S +rut' .Ktr ..d{kl} .I AX ~ qs ~ ,e .-
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33. You-have a mass of 70 kg. How fast (in mph) would you have to rurito }1ave the sam~
momentum as an 18-wheeler (m = 20,000 kg) rolling along at 1 mph? (1 rni = 1609 ~.) ~ ~ {~

.a. 8.9 x 105 m/s ?r1.".-= ,., V =6;" \1" .=" J:1. .V: ~D+. ~ l'~D J( ~~
b: 4.6 x 105 m/s ", ..'J'/" y ~ .1.',t.Kr
c. 7.8 x 103 m/s b I ) .J /. ++-!-3- , B'd. 2.9 x 102 m/s '2r .~ 9 J" ~ .=' (J./.! X/t1 ~ .=' 13 o .'../f.f.C.

01.3x102m/s (7)'1~)- ~ ;:7A~
f; None of the above answers is within 10 % of the correct result. ~~:~~
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109. A 30-kg crate is being pushed across a horizontal floor by a horizontal applied force of 270
N. If the coefficient of sliding friction is 0.4, and the speed is 7 m/s at time t = 0, how far does the

crate move in the next nine seconds, most nearly ?

a)27m; b)100m; c)200m; ~50m; e)400m;
f) None ofthese answers is within 10% ofthe correct answer. I~~

F"er .::' F~,p + ~ '=' .2.7tJ -J2.4 =' ./.jZJ...v :=' --tZ :::;> a..:: JD.:
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